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Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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046 Calculate the momentum of a gun of mass 400 kg when it recoils with a velocity of 0.25ms ™.

AmS 1100 kgms?
2. 100 kgms*

3. 100 kms™?
4. 100 kgms™—2

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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6 - .
@ Mechanical energy is:

Ans 3 1. The energy released during mechanical work

v 2

The sum of kinetic energy and the potential energy of an object
/< 3. Equal to the rate of doing work
/< 4. The energy absorbed during movement of a body
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313
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313
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R
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I 39 &3 § SO 7 T8 70 e 5y g
Il. F§uH & U AU SR 8 Wl WY ey W U YHE Senl 8l

o1 gduRon | @R 11 ST € eiatiRa B
X 2 Had qdURoN 1| Sdfied gl
X o Had GAYRON | fafifed g
X4 9 T gduRon | 3R 7 & gdyRon 11 siafifed §

Q‘-‘8 s (fid ®is # TEAM & WHDP & +0 ¥ forgr ol 21 I &5 # COINS &1 &9 forar sume

Ans of 1. FRLQV
X 2 FRLBZ
< 3 RvJaL
X 4 QJPTU

@8 Viacom 18 HifEar v1. fafties 7 ot R g I e Revwww S A alv v
Ans o JAEER 2015

X2 g 2017

X2 alid 2014
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C HE TU Y RAT Saq _ # Gyg B
Ans x.l. a‘[g

X 2 TH%

X 3 QIR

v frafa

@® Apple 7 T ¥ iPad B HecHiicar foasd & w9 # Uw

Ans X1, 2009
X 2 2008
V2 2010
X4 201

Q.8 gou, #Fa, g, 29 R Trr uE ufd # @S €1 39 omR R Y uy @ Iw o % fo PofiRad
8 i 7 ¥ BH W wai@ 22

= U 7 W P i | @l g2
T
1.7g TEY @& gl
2. Ul G @) gerr A o4
3.3 o1 Wit ¥ wey B g
4. 74 i & o g

e X By 1 3R 3 i g
X2 &Had B 1, 2 3R 3 44| gl
v oY 1, 2, 3 AR 4 TOd gl
X+ Jad § ¥ Bis o HuF maf| 76 8l
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Qés 85% dd- T4 B4 & 915, ATdld Uld Alg 2 1,200 S91dT 31 ITHT ARG da fhdm 2

Ans 1.3 12,000
V2 % 8,000
X 3 % 10,000
< 4 7 8,500

069 TR w P w F EYH IR 0 P e H 0 A o 9 E, d (25+30)x5)x 10 BN A F1 G2

Ans X1 4
X20
X3 0.1
v+ 0.1

Q.9 Name the process in which a metal is attacked by substances around it such as moisture, acids. etc.
1

Ans  of 1. Corrosion
X 2. Oxidation
/< 3. Rancidity
/< 4 Reduction
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A o g SEdt 2018

X2 11 9errg 2014

X3 2 ad, 2017

X 4 19 Ol 2016

% st (4,1), (1,1), (3,5) grT Fffa Bys g
" X1 wHigaTg R FHE B

v 2 fauq 91 fBFyw

X 5. TSIV WY gaGaE Gy T8l
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Qé" ofe U M HW # MAT & BIS KYR 8, df 38 IV & ‘HIS’ &I $9 @ smem?

ans X1 FGT
X 2 FGR
X 3 FGH
v+ FGQ

069 T UoFT & GRM 99 & SORT-3ET Sia] SR SaifT gl g, o 1 i sl g

Ans (1-{1—']“:;6{
X2 ol
X3 Td

X 4 9o

Qf Which of the below is not a part of 5- Kingdom classification by Whittaker?

Ans 2 1. Protista
/< 2. Fungi

+ 3 Protozoa
# 4 Animalia

Page (34)




9 A o AR R MY T F &9 wey B S & Q ula 32
A)TTTOR
B) Tt

Y effecy &1 gdgy figid $ad dd @R eidl ol
Ans \fﬁ 1 ii F@%

X2 FRH

X 3 el

X 4 gielRad

% faEeR 2017 ¥, WE fEomsT R ¥ 59 gea far man e
o ol Tl X

X 2. Gt U ST
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